
  

 
 

What do you open with the following hands? 

(1) ÷ K Q 3  

 ö A J 9 8 

 õ K 7  

 ô  A K 4 

 

(2) ÷ A K Q J 6  

 ö A K J 6 3 

 õ A 8  

 ô 4  

 

(3) ÷ A K 3 

 ö K Q 7 6 

 õ Q 10 8 6 5 

 ô A Q 3 

 

(4) ÷ Q 9 5 3 

 ö K Q 9 6  

 õ A J 4  

 ô A K   

 

Partner opens 2♣ - what is your response? 

(5) ÷ Q 8 

 ö K J 3 2 

 õ J 7 5 3 

 ô K 4 

 

(6) ÷ 9 8 

 ö A Q 9 7 4 2  

 õ 9 5 3 

 ô 10 2 

 

Partner opens 2NT - what is your response? 

 

(7) ÷ J 8 7 4 32 

 ö 7 6 5  

 õ AJ 7 

 ô 6 5  

 

(8) ÷ A 6 2 

 ö          J 10 42 

 õ 9 8 7  

 ô 8 7 4 
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